


Q.(1). There are five houses A,B,C,D and E. 'A' is right of 'B' and 'E' is 

left of 'C' and right of 'A'. 'B' is right of 'D'. The middle house is

A,B,C,D और E प ांच घर ह ैA, B के द यीं ओर ह ैऔर E, C के ब एां और A के 

द यीं ओर ह।ै B, D के द यीं ओर ह।ै कौन स  घर मध्य में ह?ै

(A) A (B) B

(C) C (D) D



Q.(2).There are five friends. They are standing in a row facing south.

Jayesh is to the immediate right to Alok. Pramod is between Bhagat

and Subodh. Subodh is between Jayesh and Pramod. Who is in the

Middle ?

प ांच दोस्त हैं। वे दक्षिण की ओर मखु करके एक पांक्षि में खडे हैं। जयेश आलोक के

तत्क ल द क्षहनी तरफ ह।ै प्रमोद, भगत और सबुोध के बीच में ह।ै सबुोध, जयेश और

प्रमोद के बीच में ह।ै कौन स व्यक्षि मध्य में ह?ै

(A) Bhagat (B) Subodh

(C) Jayesh (D) Pramod



Q.(3). A, P, R, X, S and Z are sitting in a row. S and Z are in the

centre. A and P are at the ends. R is sitting to the left of A. Who is to

the right of P ?

A, P, R, X, S और Z एक पांक्षि में बैठे हैं। S और Z पांक्षि के कें द्र में हैं। A और P छोर

पर हैं। R, A के ब ई ांओर बैठ है । P के द ई ांओर कौन ह?ै

(A) A (B) X

(C) S (D) Z



Q.(4). Seven friends P, Q, R, S, T, U and V are seated in a row facing north. P is 4th

left or right of Q and both are not at any end. T & V are immediate neighbors. P is not 

the neighbour of U. S is 2nd right of R and 3rd right of T. Who is 3rd right of V ?

स त दोस्त P, Q, R, S, T, U और V उत्तर की ओर एक पांक्षि में बैठे हैं। P, Q से च र स्थ न ब यीं य  

द ई ओर ह,ै और दोनों क्षकसी भी छोर पर नहीं हैं। T और V तत्क ल पडोसी हैं। P, U क  पडोसी नहीं ह,ै 

S, R के द यें दसुरे एवां T के द यें तीसरे स्थ न पर ह,ैV के द यें तीसरे स्थ न पर कौन ह ै?

(A) Q (B)S

(C) P (D) None of these 



Q.(5). Eight person A,B,C,D,E,F,G,H are sitting in a straight line facing to the north. A is

fourth to the right of E. H is fourth to the left of D. C and F which are not at the end are

not immediate neighbor of each other. H is sitting immediate left of A and A is neighbor

of B. E is immediate neighbor of F. Who is sitting second to the left of B ?

आठ व्यक्षि A,B,C,D,E,F,G,H उत्तर की ओर मखु करके एक सीधी रेख में बैठे हैं। A, E के द ई ांओर चौथे

स्थ न पर ह,ै H, D के ब यीं तरफ चौथे स्थ न पर ह,ै C और F जो क्षकसी भी छोर पर नहीं हैं एक दसूरे के तत्क ल

पडोसी नहीं हैं। H, A के तत्क ल ब ई ांओर बैठ है और A, B क पडोसी ह।ै E, F क तत्क ल पडोसी ह।ै B के

ब यीं ओर दसूरे स्थ न पर कौन बैठ ह?ै

(A) E (B) D

(C) H (D) G



Q.(6). Siva, Sathish, Amar and Praveen are playing cards. Amar is to 

the right of Sathish, who is to the right of Siva. Who is to the right of 

Amar ?

क्षसव , सतीश, अमर और प्रवीन क डड खेल रह ेहैं। अमर सतीश के द यीं ओर ह,ै जो 

क्षसव  के द यीं ओर ह।ै अमर के द यीं तरफ कौन ह?ै

(A) Sathish (B) Siva

(C) Praveen (D) Amar



Q.(7). Five students are standing in a circle. Amit is between Ambuj 

and Ankit. Arun is on the left of Abhishek. Ambuj is on the left of 

Arun. Who is sitting next to Amit on his right?

प ांच छ त्र एक वतृ्त में खडे हैं। अक्षमत, अांबजु और अांक्षकत के बीच में ह।ै अक्षभषेक के ब ई ां 

ओर अरुन ह।ै अरुण के ब ई ां ओर अम्बजु ह।ै अक्षमत के तरुांत द क्षहनी तरफ कौन बैठ  ह?ै

(A) Arun (B) Ambuj

(C) Amit (D) Abhishek



Q.(8). 6 Boys are sitting in a circle and facing towards the center of the circle. R is sitting

to the immediate right of M, but he is not just to the left of V. S is between B and V. A is

sitting to the immediate left of V. Who is second to the right of v ?

छः लडके एक वतृ्त में बैठे हैं और वह सभी वतृ्त के कें द्र की तरफ मखु करके बैठे हैं । R, M के तत्क ल द यीं

तरफ बैठ ह,ै लेक्षकन वह V के तरुांत ब ई ांओर नहीं ह।ै S, B और V के बीच में ह।ै A,V के तत्क ल ब ई ांओर

बैठ ह।ै V के द यीं ओर दसुरे स्थ न पर कौन बैठ ह?ै

(A) S (B) R

(C) B (D) M



Q.(9). ALOK, BABLOO, CHIRAG, DAZY, EKTA and FIROZ are seated in a circle

facing centre. ALOK is second right of DAZY who is third left of FIROZ. CHIRAG is

third right of EKTA and is not immediate neighbour of FIROZ. Who is third to the left

of EKTA?

आलोक, बबल,ू क्षचर ग, डेजी, एकत और क्षिरोज एक वतृ्त के कें द्र की ओर मखु करके बैठे हैं। आलोक, डेजी

के द यीं तरफ दसूरे स्थ न पर है जो क्षिरोज के ब यें तीसरे स्थ न पर ह।ै क्षचर ग, एकत के द यीं तरफ तीसरे

स्थ न पर है और वह क्षिरोज क तत्क ल पडोसी नहीं ह।ै एकत के ब ई ांओर तीसरे स्थ न पर कौन ह?ै

(A)ALOK (B)CHIRAG

(C)DAZY (D)EKTA



Q.(10). Six person are sitting in circle facing towards the centre. Parikh is sitting

between Babita and Narendra. Asha is sitting between Chitra and Pankaj. Chitra is to

the immediate right of Babita. Who is to the immediate right of Babita?

छः व्यक्षि कें द्र की ओर मखु करके वतृ्त में बैठे हैं। प ररख़, बक्षबत और नरेंद्र के बीच में बैठ ह।ै आश ,

क्षचत्र और पांकज के बीच में बैठी ह।ै क्षचत्र , बक्षबत के तत्क ल द ये ओर ह।ै बक्षबत के तत्क ल द यीं तरफ

कौन ह?ै

(A) Pankaj (B) Parikh

(C) Narendra (D) Chitra


